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Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

19y - I / SECTION - I
Inesg amss@Eps@n eflaLwefllssea. 15x1=15

Qer@éslul L Bren@ olaLgald Wseab ghymLw
e wiener CorbAsHSS, @MU ELe e ulemeruyd
Ceiigg) eT(LpSeyLb.

All questions are compulsory.

Choose the most suitable answer from the given four alternatives and
write the option code and the corresponding answer.
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saflLQurHulle) TESman (WPEEW SamIs6T 2 eTerer :

(<) 3 (<) 2 (@) 1 (), 4
Number of major components in a computer system :

(@) 3 | b) 2 © 1 d) 4
afflgraflen erBS ST :

(=1) GaoorlLev 1-2-3 (=) &G Fmesli’. Geurt
(@) Ceur QuIts QLG (/) <y rdler

Example for Spread sheet is :

(a) Lotus 1-2-3 (b) Microsoft Word

(c) Word perfect (d) Oracle

@ SGar enu (B eremug) :

(1) 2° (2)2° (@) 2° (/) 210
One kilo byte represents :
() 2° ® 2° (@ 2° (d) 2

Havrussslen s 2wy NSIFLD :

(21)2:3 (<2)3:4 (&) 3:2 (F)<4:3
The aspect ratio of monitors are :
(@ 2:3 - () 3:4 (e B:2 (d 4:3

em eraflu SQafll) SLliemml) erésaman 2 pflurer Hloasmans Qsrar._g :

(1) 4 ()2 (@) 1 | () 3

How many stable states are there in simple flip flop ?

(@) 4 (b) 2 © 1 d) 3



10.

DMA -Wler eflfleursaid :

(<1) Direct Memory Access (<,) Direct Memous Access
(@) Double Memory Access () Directory Memory Access
DMA stands for :

(a) Direct Memory Access (b) Direct Memous Access
() Double Memory Access (d) Directory Memory Access

QuiGS MIOLIL| (M :
(1) vwerur’ (B Gwertlummer (<=,) sreySserbd

(&) dflgmer (FF) Sjeowoliy Querlummer
Operating System comes under :

(a) Application Software (b) Database

(c) Spread Sheet (d) System Software

saaued LflrhnsEler risman auamsser ©_GITGTET :

(=1)3 (=) 4 (@) 2 () 6
How many modes are there in data transmission ?
(a) 3 b) 4 © 2 @ 6

Sl HTTD @L b QupmETeT @LID :

(=) QsrLssluLl g (<=y) perpening L LD
(@) Qsrgsl Curggmer (F) o Léega s@medlliulig
The clock is displayed on the : :

(a) Start Menu (b) System tray

(c) Start button (d) Quick Launch Toolbar

ahg eflenseani SipsS eflamGLma ersevCermyildd 2ABES5OSS Qavens
< smhGs 2 dar Carliysed dag CariLmnamens CambgHEsHOMD :

(<=1) Insert (<) Ctrl (@) Home (FF) Shift
Which key is used to select files and folders randomly in Windows Explorer ?
(a) Insert (b) Ctrl (c) Home (d) Shift
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FQUT Sem, HepFaTiILGEaT LIHDH LB o eoume® Quiiy. :

(1) Open (<ap,) Display properties

(@) Control panel () Save As

The dialog box which is used to change the wallpaper, screen saver is :
(@) Open (b) Display properties

(c) Control panel (d) Save As

Slansadler SLaE QsTdme IDDICISHETET SLLEGET :

(<=1) pwd (<=,) password (@) passwd (rF) passd
The command used to change the password in Linux is :
(a) pwd (b) password (c) passwd (d) passd

8§ -& wseufl &0 QsWHGD :

(o) && ()" (@) = - (r) &
Address of operator in Cis :
(@) && ®) * © ™ (4 &

Geupmier eThg Clame C fraSlen ApLiy T ieve :

(<=4) for (<) if (®) Auto (/) static
Which is not a keyword in C?
(@) for ) ( Auto @ static

ahs afipan Uige o muiysafien QUWiEMETLLD, A Iys@aTyL
AL, <} T.6TE0G0 -6r Qe Garédlemmen :

(=t) get (<) Post (&) action (/F) Submit
Which method will append the names of the form elements and their values to the

URL ? :
(@) get (b) Post (c) action (d) Submit
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\Sifley - I1 / SECTION - I

TCHEID 0! cflemdeené, cflenL wefgsayb. seupBler efent eraim 16 -8

SemTiq LILns el welgeayib.
Answer any six questions. Question No. 16 is compulsoi'y.
Blene 2 (5 - euenywim.

Define-Literal.

LS Ceu@ser eTanmmed creman ?
What is Register ?

6x2=12

NOR aumiled Slarangens euenyhgl e QUL iGN 6T(pE!s.

Draw the symbol for NOR Gate and write its truth table.

sseued UMmhm euensser wirened ?

What are the different forms of Data transmission ?

elemGLTen 6r&6vLl erenmmed erevmen ?
What is Windows XP ?

Garliyep - euenTim.
Define - Folder.

man &L_Lenerudler Lwerm(p ereves ?

What is the use of man command ?

FGsayb Hren@ Umie|l L gélen Slananhisamer aIenys.

Draw any four symbols of flow chart.

Style LigiTLd Fadlenm LiweTLIT(H Wrgl ?.
What is the use of style attribute ?

[ Slpliys / Turn over



I1I.

25.

26.

27,

28.

29.

30.

31.

32,

33.

6

9lfley - IIT / SECTION - III

gCzend m NamssEpsE el wealiésab. ellam eram 29 -&@

S6usTiq LILING eflenL_wefl&sa .
Answer any six questions. Question No. 29 is compulsory.

e sefilCUTHudeT aImEsEmeT 6T(Lpg)s.

Write the classification of micro computers.

QUIpBIFD ETETMITED 6TGOTED ?
What is Maxterm ?

Benareusglen Ligbleveaamar erpsis.

Write the hierarchy of memories.

Qgrit &Hm GHILILY eueys.

Write a note on sequential circuit.

LiFeued @WEs ienLoliL] GTEDITE) GTeme 2

What is Distributed Operating System ?

Le Lwarur@eear erateurm @Gy CrréHed Lwea@Gsgieumi ?

How will you work with Multiple applications ?

Run &L L_6naT GTeiDITed Greses ?

What is Run Command ?

cat LHYID more &L earseflan lSSUTEHEDET T(PIIS.

What are the differences between cat, more commands ?

SirayQp (Algorithm) -ufern LIGTLES SaQIBeET CTPSIS-
Write the properties of an algorithm.

6x3=18



IV.  gemensgl eSlammésensEn elan waflssaib.
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35.
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9fley - IV / SECTION - IV

Answer all questions.

safilQuriler so@popsmeTud Sjaupdear WsHW FmpEmerd
ellend@s.
96060

- &p&araniid wenpE@MuiHeter @mHloe Qeumur@smarnd CQee|w.

(=1) 1059+ 1549 (@) —1259+519 (&) (=210)~(~610)
Discuss the various computer generations along with the key characteristics of the

computer of each generation.
| OR

Do the following signed binary arithmetic operations.
~129+59  © (~2i0)~(=610)

(@) 1050+1559 (b)
aiib bl e-eraf® Frpaisar UDH HHSSLOTES DS,
VeV G)
& GuigeuELDLILIEIE) 2 eTaT Lig flepasever eflauifl.
used Input devices and explain them briefly.
OR

gCs

R erans sHHlo
List any five commonly

Explain the steps involved in designing the logic circuit.

Qswe Guararen LHD! eQeurfl.
S|Vl
SanCLredld Lwau@ssru@n LIoams o eyurLe Quiigsed ubol Al

GOILIL] UEnTS.

Explain process management.
’ OR .
Write a short note about the different kinds of dialog boxes that you use I windows.

5x5=25
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auemawilen @lananTliL] Siewlil euaassmen Lipdl edeuifl.
SV

Nengav - o 6rar LanTEeRer euamEHmETL] W) efauf.

Explain different types of Network topology.

OR
Explain different types of users in Linux.

Spsaramid Geuafliieni seamLdlu C Hlred erpgs.
011235..nterms

- 3|V6VG)
S Leuenen @L_(h LHMmID LTS FamiseneT THSHEST_([HLE 6T (SIS

Write the C program to display the following output.

011235.. nterms
OR

Explain table tag along'with‘ its attributes with an example.

-'0:07G =



